PDFIZ21FE6 A DNA TY o BEEREWEBE ToREES) (HEETNBE - BB R 12T 1<8H)
MINIATURE HAND OPERATED AIR VALVES

INBUIEINILD

—RYVIALT - NIIVFAT—

(® CADT—%7 44 % : 55_Cylinders

WEs 247

MSHRP (Ms##517)
MSHBP (Re1/88:#5517)

(No.3)

14

o

M551 7
(

o

No.4)

17

P L AL b
Q! =
8l s
o 3—M5X0.
o167 A
AB
R2PRI

MME K7 0 GRELIE  EBER =TI Ay¥)

Rc1/8217
(No.3) (No.4)
32 32
o | o |
M12X0.8
M12X0.8
N”\
T =
o T TP =
o~
il | cjuz
8 |
2452 ARE 3

(ABEER)

NC NO

@OFR2BIESIERIFE (T T E—2)TY,
@ARZARLHSE1E 11N (No3 4RIL)

#ALAR%Z 1 SUS303

—Re1/8

=

IN
EXH1 EXH2

WX — ERROE oo ADEER
Type No. ) Rl IN - OUT EX FIvary (mm?) BE (g) YR
3 3 3 18 30 2,700
MSHRP 2 1 5 M5 15 ) 19 60 2,990
3 3 3 Rc1/8 45 130 3,740
MSHBP 4 4 5 BV W5 55 160 4,130
| 132 %2 wa MSHRT (Msiz#is17)
MSHBT (Re1/8i£#55217)
M54 Rc1/8%2417
(No.4) (No.3)
17
g
©
M12x0.8
= 80°
e o4
g [N
STR2 ~
Zle Pos] T &
™| % e o y\$
NI~ B 2 <~
._1 @ v
N1 Ri
o 3Reg
<z>16.73 MED8 (g SR8 s g5
SRS (RFEER) "
AB — (AHEER) ¢ c1C2
IN
AP EXH1 EXH2
MME K7« &0 (RENIE  BEF =7 ILAy¥) ML SUM24 ON L BIMREFRITY,
ONINEATDRT 413 FEL 81 TERTIK - BTECAVET . K7+ BOFMT &I, £ 30K2 247 (MSHRP - MSHBP) DRIEE Z B I8,
B . EEEOZ 352,00 B EAEE 3
Type No. el F=h8 IN - OUT EX Kooar¥ (mm2) HE (g) YE R
3 3 3 18 30 2.830
MSHRT | — o : M5 15 , 15 0 et
3 3 3 Rci/8 45 130 3,860
MSHBT 4 4 5 S M5 5.5 160 4,280
Order |ex!Example
EXH  MSHRP3 ERH
MSHBP4
i o - Ty FHF
Dy %Hﬁ B= P133 MSCNL
@ZFLICLIPNEO0E, LEHFSARLET, (P1447)
price MBEBZS A MiiH (D1MFBYIVIEORIS3
it B [EEIRT
L gt *0
H B 1~4 [ 5~10 11~
[FEHES RN 5% BRI
OFRRBEBAIIWOSIC TTHERBEE,
® ERRE FR
_l ## ERAEDEE 0~0.9MPa
ERAERE | 5-60C (REAECE) <
<

H-1571

MINIATURE HAND OPERATED AIR VALVES

INBUIEINILD

—7OF1I—5yhFALT-

PDFIZ21FE6 A R DHNBTY o BHEREWEBE TOREES (AR LT B E - B8R 147 1181)

(® CADF—#47+/L4 4 : 55_Cylinders

‘119.8

25

19.8

&
éi:}l

W7 7F1I-2tyh847 MSHRM (Msigis17)
MSHBM (Re1/8##5217)
BEANNLT - LA
M5%4 7 Rel/8%A 7
{ (No.3) (No.4) (No.3) (No.4) M‘stg-ags
M12x0.8  $10.6 M12x0.8 —9d.
M12X0.i 106 ] o %@iﬁi)
i o —[EXHI
i q—— ol 4
82w A &
= - T\ EXH2
. ol st/ -] \2WBDB
P) Y $16.7 18
¢l c2
oI I
RP IN
S Fatt EXH1 EXH2
F17 REAT
o
1 I M5%0.8
<
N:
M12x0.8

§
25|

@BAA T, T F 2 T—RERARI VT ORIC25mmIEE DT T 52 REFHF TSN @RZBEEFERIFR (X727 58—2) TF,
[EH | @ite £7¢ #E GELE: BBE=7Ibts%) FLFS : SUS303
B FIF1I-4 B | H-hE BEAOZ Koary |BEEE YE (i
Type No. ER IN-OUT| EX B (mm?) [FE{7[REA7[BEAT7[AZAF|F21{7 [RE1{7[BEAT|[ASA7
3 |ras AL (7) 3 [ 3 18 523 | 488 | 473 | 57 | 2,890 | 3,090 | 2,040 | 3,200
MSHRM — REE 7’?’ 4 | 5 - ks ) 19 622 | 587 | 572 | 67 | 3180 | 3,380 | 3,230 | 3,580
3 |B(F= s 3 3 Rc1/8 45 608 | 57.3 | 558 | 655 | 3930 | 4,130 | 3,980 | 4,330
MSHBM A7/ 1avhs47) 4 [ 5 | B8 s 55 69.3 | 658 | 643 | 74 | 4320 | 4,520 | 4,370 | 4,720
.; orter | ER || 77-;1: %] E]Pm W3R 251 R (D1 HE)T)P133 T o
b ; TS 0~0.0MPa
X SR - i T gERs BHiE ERNE SmmERE | TeC (AEAECE)
H B2 1~4 I 5~10 11~
el | EEmm | 5% R

DT FH L LPME003E
LAHFRABLET,

Example
EmH

PSHMPA(P.1619)

\MSHRM3—R

(A—-5—%417)

MSHRM4—A /

(T7/x1Oyh217)

T B & BHHE B R133

EE A
MSCCN (P.1547)

SPSNS(P.1577)

ZEICED
24y FOYEZ
<—

MSCNL(P.1447)

@ORFHBBAIIWOSICTIHEEB S

L ]
E WNECHECR TV NNV (LT 7 F 1 T-2 WU ETh2 LI AN RIRTEET,

FOF1I—4% Fa17 REAT B&A~7 AZAT
O o
FX 20g 159 159 289
#eg) | MSHRM 3N 4N 10N 0.3MPa
7| msHBm N 11N 23N 0.3MPa
BONTHMBEICRME| —AAICECHE | 360FEICEIKHE | /STEYNIHDS

HE THIENHRET, | BHILCRIvFE | BRIL TR yFE | ERESEBHLT
YBAET, PBAET, Ry FEBAET

@T 7 F 2 T—2ERRNNT I BN TOBVIRRETREFLET,

)

FV e\ w\ey
TUARUOVAY-0V

H-1572



